# A Note on the Blow-up Pattern for a Parabolic Equation

### $\mathbf{B}\mathbf{y}$

### Atsuhito KOHDA and Takashi SUZUKI

Department of Mathematics, Faculty of Engineering, Tokushima University, Minamijosanjima 2-1, Tokushimashi 770-8506 Japan

Department of Mathematics, Graduate School of Science, Osaka University, Machikaneyamacho 1-1, Toyonakashi 560-0043 Japan

(Received September 14, 1998)

#### Abstract

We consider here some conditions on initial value for parabolic problem which guarantee the blow-up of a solution. Then we study the behaviour of blow-up solution near blow-up time, that is blow-up patterns.

1991 Mathematics Subject Classification. 35K55

### Introduction

Given a bounded domain  $\Omega \subset \mathbb{R}^n$  with smooth boundary  $\partial \Omega$ , we study the parabolic problem

$$\frac{\partial u}{\partial t} - \Delta u = f(u) \quad \text{in} \quad \Omega \times (0, T), \qquad u|_{\partial \Omega} = 0, \qquad u|_{t=0} = u_0(x) \tag{1}$$

for  $f(u) = \lambda_0 e^u$ ,  $\lambda_0$  being a constant. The maximal time for the existence of the classical solution is denoted by  $T_{\text{max}}$ .

First theorem is stated as follows.

Theorem 1 Let  $v \in C^4(\overline{\Omega})$  satisfy

$$\Delta^2 v + \lambda_0 e^v |\nabla v|^2 \ge (\Delta v)^2 \quad in \quad \Omega, \qquad \Delta v + \lambda_0 = v = 0 \quad on \quad \partial\Omega$$
 (2)

and

$$\Omega_0 \equiv \left\{ x \in \Omega \mid -\Delta v(x) < \lambda_0 e^{v(x)} \right\} \neq \emptyset. \tag{3}$$

Then  $T_{\max} < +\infty$ , provide that  $u_0 \geq v$  in  $\Omega$ .

Obviously, above theorem is reduced to the case  $u_0 = v$ . If  $\Omega$  is the unit ball  $B = \{x \in \mathbb{R}^n \mid |x| < 1\}$ , and  $u_0 = v(x)$  satisfies furthermore that

$$v = v(|x|), v_r < 0 (0 < r = |x| < 1),$$
 (4)

we can show that the mapping  $t \in (t_0, T_{\text{max}}) \mapsto u(x, t)$  is monotone increasing if  $0 < T_{max} - t_0 \ll 1$  and  $|x| \ll 1$ . Then we have the following theorem. Sharper blow-up profiles are proven under different assumptions on the initial data ([4], [1], [2]).

**Theorem 2** Under those circumstances, for any K > 0 there exists some  $r \in (0,1]$  satisfying

$$\lim_{t \uparrow T_{\text{max}}} u(x,t) \ge 2\log \frac{1}{|x|} + K \qquad (0 < |x| < r). \tag{5}$$

Related to above theorem we have the following.

**Theorem 3** If  $n \leq 5$  and  $\lambda_0 > \overline{\lambda}$ , there exists a funtion v(x) satisfying the assumptions of the previous theorem. Here,  $\overline{\lambda}$  denotes the supremum of  $\lambda$  for the existence of a classical solution of

$$-\Delta v = \lambda e^{v} \quad in \quad \Omega, \qquad v = 0 \quad on \quad \partial \Omega. \tag{6}$$

Theorems 1, 2, and 3 are proven in sections 2, 3, and 4, respectively.

### 1 Proof of Theorem 1

First, we note the following.

Lemma 4 Condition (2) implies that

$$t \in (0, T_{\text{max}}) \mapsto J(x, t)$$
 non-decreasing (7)

for any  $x \in \Omega$ , where  $J = e^{-u}u_t$ .

*Proof:* u(x,t) is smooth if t>0 so that

$$u_{tt} - \Delta u_t = \lambda_0 e^u u_t$$

and

$$u_{ttt} - \Delta u_{tt} = \lambda_0 e^u \left( u_t^2 + u_{tt} \right)$$

hold. Therefore,  $I = u_{tt} - u_t^2$  satisfies

$$I_{t} - \Delta I = \lambda_{0} e^{u} I + 2 |\nabla u_{t}|^{2}$$

$$\geq \lambda_{0} e^{u} I \quad \text{in} \quad \Omega \times (0, T),$$

 $I|_{\partial\Omega}=0$ , and

$$I = \Delta u_t + \lambda_0 e^u u_t - (\Delta u + \lambda_0 e^u)^2$$
$$= \Delta^2 u + \lambda_0 e^u |\nabla u|^2 - (\Delta u)^2.$$

From the standard theory,  $u_0 = 0$  on  $\partial\Omega$  implies

$$w = u_t \in C([0,T), L^p(\Omega))$$

for any 1 . See [7] or [12].

Let  $A_p(t)$  be the realization in  $X_p = L^p(\Omega)$  of

$$-\Delta - \lambda_0 e^{u(\cdot,t)}$$

with  $\cdot|_{\partial\Omega} = 0$ . Then, (2) implies

$$w_0 \equiv w|_{t=0} = \Delta u_0 + \lambda_0 e^{u_0}$$
  
 $\in D_p \equiv D(A_p(t)) = W^{2,p}(\Omega) \cap W_0^{1,p}(\Omega).$ 

Therefore, the regularity theorem for the solution  $w(t) \in X_p$  of the evolution

$$\frac{dw}{dt} + A_p(t)w = 0$$

is applicable and  $w\in C^{1}\left([0,T),X_{p}\right)$  follows. In particular  $I\in C\left([0,T),L^{p}(\Omega)\right)$ , and

$$I|_{t=0} = \Delta^2 u_0 + \lambda_0 e^{u_0} |\nabla u_0|^2 - (\Delta u_0)^2.$$

Now, the comparison theorem imply  $I \geq 0$  in  $\Omega \times (0,T)$ . This means

$$j_t = e^{-u} \left( u_{tt} - u_t^2 \right) \ge 0$$

and (7) has been proven.

To prove Theorem 1, suppose that  $T_{\text{max}} = +\infty$ . Then (17) of our previous paper [9] holds so that

$$\int_{\Omega} u(x,t)\phi_1(x)dx \le j_* \qquad (t \ge 0),$$

where  $\phi_1(x) > 0$  denoted the  $L^1$ -normalized first eigenfuntion of  $-\Delta$  and  $j_*$  is an absolute constant.

Take  $\varepsilon > 0$  and set

$$\Omega_{\varepsilon} = \{ x \in \Omega \mid J(x,0) > \varepsilon \}.$$

Then, above lemma implies

$$u_t(x,t) \ge e^{u(x,t)} J(x,0) > \varepsilon \qquad (x \in \Omega_{\varepsilon})$$

and hence

$$j_* \geq \int_{\Omega_*} u(x,t) \phi_1(x) dx \geq arepsilon t \int_{\Omega_*} \phi_1(x) dx$$

for t > 0. This means  $\Omega_{\epsilon} = \emptyset$ . Therefore,

$$\Omega_0 = \{ x \in \Omega \mid J(x,0) > 0 \} = \emptyset,$$

a contradiction to assumption (3).

### 2 Proof of Theorem 2

The following lemma is due to T. Itoh ([8]). See also [11] for the proof.

Lemma 5 Let

$$v=v\left(|x|,t\right)\in C^{2}\left(B\times\left(0,T\right)\right)\cap C\left(\overline{B}\times\left[0,T\right)\right)$$

satisfy

$$v_t > 0, \quad v_r < 0, \quad -\Delta v < e^v \qquad in \quad B_R \times (t_0, T)$$
 (8)

and

$$\lim_{t \uparrow T} v(0,t) = +\infty, \qquad \int_{B_{r_1}} e^{v(x,t_0)} dx < 4\pi, \tag{9}$$

for  $0 < r_1 \le R \le 1$  and  $0 \le t_0 < T$ . Then,

$$v(|x|, T) \ge 2\log\frac{1}{|x|} + \log 2$$
  $(|x| < r_2)$  (10)

holds for some  $r_2 \in (0, r_1)$ 

To prove Theorem 2, we put  $T = T_{\text{max}}$  for simplicity. The second inequality of (8) holds for v = u, R = 1, and  $t_0 = 0$ . Therefore,  $T_{\text{max}} < +\infty$  implies the first relation of (9). This meas that

$$J|_{x=0} \le 0 \qquad (0 \le t < T)$$

is impossible, because then  $u_t(0,t) \leq 0$  for  $t \in [0,T)$ . Thus, there exists some  $t_0 \in [0,T)$  such that  $J(0,t_0) > 0$ . In use of Lemma 4 we have J > 0 on  $B_R \times (t_0,T)$  for some  $R \in (0,1]$ . Namely,

$$u_t > 0, \quad -\Delta u < \lambda_0 e^u \quad \text{in} \quad B_r \times (t_1, T)$$
 (11)

holds for r = R and  $t_1 = t_0$ .

We claim the following.

**Lemma 6**  $J|_{x=0} \to \lambda_0$  as  $t \uparrow T$ .

*Proof:* In the case of  $n \geq 3$  we can make use of the argument of [3] by (11). The function  $w(y, \sigma)$  defined by

$$u(x,t) = w\left(x\left(T-t\right)^{-1/2}, \log\frac{T}{T-t}\right) - \log(T-t)$$

satisfies

$$w \longrightarrow 0$$
 locally uniformly in  $y \in \mathbb{R}^n$ 

as  $\sigma \to +\infty$ . Furthermore, it satisfies

$$w_{\sigma} - \Delta w = -\frac{1}{2}y \cdot \nabla w + (\lambda_0 e^w - 1)$$

and hence the parabolic regularity implies that

$$w_{\rho}, w_{\sigma} \longrightarrow 0$$
 locally uniformly in  $y \in \mathbb{R}^n$ ,

as  $\sigma \to +\infty$  where  $\rho = |y|$ . Therefore,

$$u(0,t) + \log(T-t) = w\left(0, \log \frac{T}{T-t}\right) \longrightarrow 0$$

and

$$(T-t)u_t(0,t) = \frac{1}{2}\rho w_\rho \left(0, \log \frac{T}{T-t}\right) + w_\sigma \left(0, \log \frac{T}{T-t}\right) + \lambda_0$$

$$\longrightarrow \lambda_0$$

as  $t \uparrow T$ . Then the desired conclusion follows as

$$\begin{array}{lcl} J(0,t) & = & e^{-u}u_t\big|_{t=0} \\ & = & e^{-(u(0,T)+\log(T-t))}\cdot (T-t)u_t(0,t) & \longrightarrow \lambda_0. \end{array}$$

For the case n=2 we make use of [10] instead.

To prove Theorem 2, take a constant K > 0. By Lemma 6, we have some  $t_0 \in [0,T)$  satisfying  $J(0,t_0) \ge \lambda_0 - 2e^{-K}$ , and hence some  $r_0 \in (0,R]$  with

$$J(x,t_0) \ge \lambda_0 - e^{-K} \qquad (x \in B_{r_0}).$$

Then Lemma 4 implies

$$J \equiv u_t e^{-u} = \lambda_0 + e^{-u} \Delta u \ge \lambda_0 - e^{-K},$$

or equivalently,

$$-\Delta u \le e^{u-K}$$
 in  $B_{r_0} \times (t_0, T)$ .

The function  $v(|x|, t) \equiv u(|x|, t) - K$  satisfies

$$-\Delta v \leq e^v$$
 in  $B_{r_0} \times (t_0, T)$ .

On the other hand if  $K > -\log \lambda_0$  we have  $e^{u-K} < \lambda_0 e^u$ . Thus,

$$v_t = u_t = \Delta u + \lambda_0 e^u > 0$$
 in  $B_{r_0} \times (t_0, T)$ .

Also  $u(0,t) \to +\infty$  implies  $v(0,t) \to +\infty$ . Finally, we can take some  $r_1 \in (0,r_0]$  such that

$$\int_{B_{r_1}} e^{v(x,t_0)} dx < 4\pi.$$

Now Lemma 5 implies (10) for some  $r_2 \in (0, r_1]$  and inequality (5) holds with  $r = r_2$ .

### 3 Proof of Theorem 3

By virtue of [5], a priori bound of the solution for

$$-\Delta f = (f + \lambda)^2 \quad \text{in} \quad B, \qquad f = 0 \quad \text{on} \quad \partial B \tag{12}$$

holds for  $2 < \frac{n+2}{n-2}$ . Namely, when  $n \le 5$ , for any  $\Lambda > 0$  admits a constant C > 0 such that  $||f||_{\infty} \le C$  for any classical solution f(x) of (12) with  $0 \le \lambda \le \Lambda$ . On the other hand, when  $0 < \lambda \ll 1$ , any classical solution of (12) is unique and linearized stable. Then, standard argument based on the topological degree gurantees the existence of a solution for any  $\lambda > 0$ .

Obviously, f(x) > 0 in B and [6] assures that this is radial and radially decreasing. Now we take v(x) as the solution of

$$-\Delta v = f + \lambda_0 \quad \text{in} \quad B, \qquad v = 0 \quad \text{on} \quad \partial B. \tag{13}$$

Then, properties (2) and (4) are easy to verify.

Finally, if (6) does not have a solution, then no positive super-solution exists. The function v(x) > 0 cannot be a super solution of (6) and hence (3) follows.  $\Box$ 

## References

- [1] Amadori, D., *Unstable blow-up patterns*, Differential Integral Equations 8 (1995) 1977-1996.
- [2] Bebernes, J., Bricher, S., Final time blowup profiles for semilinear parabolic equations via center manifold theory, SIAM J. Math. Anal. 23 (1992) 852-869.

- [3] Bebernes, J., Eberly, D., A description of self-similar blow-up for dimensions  $n \geq 3$ , Ann. Inst. Henri Poincaré, Analyse nonlinéaire 5 (1988) 1-21.
- [4] Bressan, A., Stable blow-up patterns, J. Differential Equations 98 (1992) 57-75.
- [5] De Figueiredo, D.G., Lions, P.L., Nussbaum, R.D., A priori estimates and existence of positive solutions of semilinear elliptic equations, J. Math. Pure Appl. 61 (1982) 41-63.
- [6] Gidas, B., Ni, W.-M., Nirenberg, L., Symmetry and related properties via the maximum principle, Comm. Math. Phys. 68 (1979) 209-243.
- [7] Henry, D., Geometric Theory of Semilinear Parabolic Equations, Springer, Berlin, 1981.
- [8] Itoh, T., Blow-up of solutions for semilinear parabolic equations, Kokyuroku RIMS, Kyoto Univ. 679 (1989) 127-139.
- [9] Kohda, A., Suzuki, T., Blow-up criteria for semilinear parabolic equations, preprint
- [10] Liu, W., The blow-up rate of solutions of semilinear heat equations, J. Differential Equations 79 (1989) 104-122.
- [11] Suzuki, T., Semilinear Elliptic Equations, Gakkotosho, Tokyo, 1994.
- [12] Tanabe, H., Equations of Evolution, Pitman, London, 1979.